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Warm Up
Factor the expression completely.
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Koeview

Solve the eqzuatlon using square roots.

heck your solution(s).
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~ P Comp/dc “he
Completing the Square —/ Jgver, /¢ading
coed Eicient MUIE =L
Words To complete the square for the expression x> + bx, add [g) :

—_—

Algebra x* + b + (| )2 =[x+ Jlr +2)=(x+2 )

Find the value of ¢ that makes x* + 14x + ¢ a perfect square
trinomial. Then write the expression as the square of a binomial.
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Find the value of ¢ that makes the expression a perfect square
trinomial. Then write the expression as the square of a binomial.
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Solve x* - 10x + 7 = 0 by completing the square.
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Solve 3x* + 12x + 15 = 0 by completing the square.
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Solve the equation by completing the square.
(a) x¥*-4x+8=0 (b)x¥*+8x-5=0 (c)-3x*-18x-6=0

X= 2% 2 Xz -4 {2 X317

(d) 4x* + 32x = —68 (e) 6x(x +2) = -42 (F) 2x(x — 2) = 200
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